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1.1 301,302= 2,420,000& x 12&
=29,040,000&
1.2 303= 1,320,000& x 128=15,840,000&
1.2 304 440,000& x 128 =5,280,000&
1.3 309= 605,000&x12& =7,260,000&
2.2E O ECt2AERIAY
2.1507= 1,430,000& x 128
=17,160,000&
3. = SSOtLE
3.1 2065101= 300,000& x 128
=3,600,000&
3.2 207S406= 300,000& x 128
=3,600,000&
3.3 208&506% 250,000& x 128
=3,000,000&
4. HE2AN OIEF SWS 155-27 S EAQO AL
4.1 914= 650,000& x 12& 7,800,000
5.2&830Ixt¢
5.125=0IX 110,000,000&x0.006(0.6%)
=660,000&
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6.1 1401= 700,000& x 122=8,400,000&
7.5 YA =SS FE3X0HIE
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=6,000,000&
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8.1 803= 500,000& x 128 =6,000,000&
2! 113,640,000&
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2. 013 M (24121558) 1,693m2
200,000
3. MEICH2 ~10,440,0002!
Yy=xEa =7,000,000!
_ B ___17,840,0002
o thota 113,640| 110,470 3170|142 SI7 IS 79-5 LelOL2AQ L A

._1_




202123 & A 0 AFA]
(B9 : &9)
o =2 a B & A = =
T e e e T 12
4.01 20| Xt 6,291 6,995 AT04|4. SEESZES 250,000,0002x0.008(0.8%)
ol =2,000,0008
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281,934,400x 0.007(0.7%)  =1,973,5402
2. Jlge
3,045,390%0.006(0.6%) =18,272¢
W s =E=n]
100,000,0008! x 0.023(2.3%) =2,300,000%
_EA ___6,291,812%
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2HY 500,0002 x 128 =6,000,000
60|22 X2 116,660  165,375| ~48,715
1.J122x2 116,660  165,375| 48,715
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2.01 20| Xt 50 50
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1.0l ALEI HI 11,160 13,960 22,800
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3.YF=&| 3,160 5,760 A2,600|1.LBHYREZXY| 100,000@x12
=1,200,000&
2.3 X AtHl 80,000& x 128 =960,000&
3. SEH=H| 500,000& x 23| =1,000,000&
=2 __ 3,160,000
4.048I 2,400 2,040 360|041l 200,000& x 12& =2,400,000&
2. AL HI 15,316 39,991 A24,675
1.2l 21,735 221,735
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2.=ZH| 15,316 18,256 A2,940
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2.EXITHAEAL 4,650,000& x 13l
=4,650,000&
3.%=0IAl 55,000& x13l =55,000&
5. 2IIItXIAl 1,200,000 x43
=4,800,000&
6. JIEtAl= 730,000& x13 =730,000&
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